
WARNING - RISK OF FIRE AND ELECTRICAL SHOCK. FIXTURE MUST BE INSTALLED 

BY A QUALIFIED ELECTRICIAN ONLY. FIXTURE IS INTENDED FOR INSTALLATION IN 

ACCORDANCE WITH THE NATIONAL ELECTRICAL CODE, LOCAL AND FEDERAL 

SPECIFICATIONS. DISCONNECT POWER AT ELECTRICAL PANEL BEFORE SERVICING.

CONNECTION OF LUMINAIRE TO POWERED DRIVER WILL RESULT IN PERMANENT 
DAMAGE TO THE LED AND VOIDED PRODUCT WARRANTY.

RETAIN THESE INSTRUCTIONS FOR MAINTENANCE REFERENCE.

MATERIALS USED FOR CEILING FIXATION SHOULD CONFORM TO THE RELEVANT 

BUILDING REGULATIONS.

LARA 3S DOWNLIGHT INSTALLATION INSTRUCTIONS

12/21/2021

Zaniboni Lighting, 101 N Garden, Ste 230 • Clearwater, FL 33755 - Ph +17272130410 • Fx +17276839720 • www. zanibonilighting.com            
Zaniboni Lighting shall not be held liable for any damages arising out of the use or misuse of its products nor any damages arising out of  the 

alteration or modification of the instructed installation of its products.
1



12/21/2021

Zaniboni Lighting, 101 N Garden, Ste 230 • Clearwater, FL 33755 - Ph +17272130410 • Fx +17276839720 • www. zanibonilighting.com 
Zaniboni Lighting shall not be held liable for any damages arising out of the use or misuse of its products nor any damages arising out of  the 

alteration or modification of the instructed installation of its products.
2

FIXTURE INSTALLATION

1. THE DRIVER FOR THE FIXTURE MUST HAVE BEEN INSTALLED REMOTELY PRIOR TO

INSTALLING THE FIXTURE. RUN THE BLACK AND RED WIRES FROM THE REMOTE DRIVER

THROUGH THE CENTRAL HOLE. USING THE PROVIDED WAGO CONNECTORS, CONNECT THE

RED AND BLACK WIRES FROM THE REMOTE DRIVER TO THE RED AND BLACK WIRES FROM

THE FIXTURE RESPECTIVELY.PLACE FIRST THE JUNCTION BOX COVER AND SECURE TO THE

J-BOX USING APPROPRIATE HARDWARE (PROVIDED BY OTHERS) SEE FIGURE 1 AND 1A.

2. PUT TOGETHER WALL PLATE COVER WITH THE MOUNTING BRACKET USING THE

APPROPRIATE HARDWARE SUPPLIED BY OTHERS,THE HOLES ON THE PLATE ARE MADE FOR

M4 OR 6-32 SCREWS (FIGURE 2 AND 2A).

3. PLACE THE FIXTURE ON THE MOUNTING BRACKET AND SECURE USING THE PROVIDED 2X SET

SCREWS (FIGURE 3).

4. INSTALL THE FIXTURE ON THE JUNCTION BOX COVER WITH 4x PROVIDED SCREWS M4 (FIG.4)

5. TURN POWER TO THE FIXTURE BACK ON.

1
2B

3 4

JUNCTION 
BOX COVER

2A

MOUNTING 
BRACKET

WALL PLATE 
COVER

M4x10 mm or
6-32 3/8” long

Hex Nut

Split washer

5

1A

SET SCREW
MOUNTING 
SCREW M4


